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Subject : GE_Q01-Q10_PRT28FEBSH2

Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(a) his tragic end

(b) and this leads to

(¢) on what to do

(d) Hamlet is unable to take a decision
(D) (@) (b) (¢) (d)

(2 (d)(© () (a)

(3) (9 (d) (a) (b)

(4)  (b) (9) (d) (a)
Options:-

.1, Option ID :- 1,

« 2,Option ID :- 2,
. 3,Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.

They will start the journey at midnight.

(1) The journey at midnight will be started by them.

22 2

(
(
(4

Options:-
.1, Option ID :- 5,

« 2, Option ID :- 6,
. 3,0ption ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

) At midnight, the journey was started by them.
) The journey will be started by them at midnight.
) The journey at midnight was started by them.

Question ID:- 3




Fill in the blank with the correct preposition.

[ am tired walking endlessly.
(1) with

(2) of

(3) from

(4) off
Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

He shall have finished the assignment before I meet him.

(1)  Future Indefinite

(2) Future Continuous

(3) Future Perfect

(4) Future Perfect Continuous
Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
The priest said, “We are all sinners.’

(1) The priest said that we are all sinners.

(2) The priest said that we were all sinners.

(3) That we were all sinners the priest said.

(4) The priest said that we have all been sinners.
Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6




Identify the part which contains an error.
The little girl / can swim / comfortably/, isn’t it ?
(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
LIBERAL

(1) broad-minded

(2) conservative

(3) hopeful

(4) decent
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Choose the word opposite in meaning to the given word.
DEARTH

(1) extravagance
(2) richness

(3) grandeur

(4) plenty

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9




Identify the part of speech of the underlined word.

You won't have permission to go there unless you have a valid permit for that :

(1) Preposition

(2) Conjunction

(3) Adverb

(4) Interjection
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the underlined clause in the given sentence.
They lay down when they had finished their work.
Noun Clause

)
(2) Adjective Clause
(3) Adverb Clause
(4) Principal Clause

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PRT28FEBSH2

Question ID:- 11

frrfalem =iy it SYdes gt SHUT MR U9H T Heleh 3T ST |

e o SAfedca | fatidfl a1 994 o1 | T 912 81 9 fog ot 9 iR guemm of | 5 9t 9 9 3R
Teee o | 3 wfa iR TS guReE 9 3R FE & fafi= o # ushar scq= T AT I9eere of 9 1 SR
W T TH-HHEH T8 ST 91| R 7S] S AT 379 bl shaueit Fign H T8 1 SNE L & | 71
g fagrodiel o SR FEer 319 YT o Gdl § e TH W §

o

Fe & Ak H T 41 :
(1) Togda o= =1

(2) Hu Tl fa=m =
(3) Tatst @ =

(4) Tah ggfeed =

Options:-




.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

- 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Freafafaa T & samyds Ut AW SNeTa U9 T Wi ST S|

e o AT | farieh el o1 TH-=ad o1 | Ueh 91 21 & &g off 9 2R gueam™ off | 9d off 9 9 7R
Teee off | 3 g o oS guReE 9 3R IO F fafi= e # usmar S i A 39Sy of 9 1 SR
T g H-HHEH T FeArd1 A1 | U 3A7S] S AT 370 bl eyl g H T &1 NS L & | =1
T foRmamet] & R0 Heed 94 THF o Gdl H§ AT TH W& © |

T % IR H HE HUA T €

(1) ohell 39S 9 |

(2) HER Hfg 9|

(3) A T AT FH HEISH =A™ |
(4) TSR HATS GHRE o |

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

frefefEa Ty it earges Ugent SHUT SMETRT TP i Heleh St aifaT |

el o ferdea § Tt qel o G- o1 | Tk W12 g1 4 fog off 9 oIk goeme off | ga ot 3 9 8iR
e o | o Hig IR THS GURE & iR gar % faf=1 o # wehdl 3eq1 e 1ol S o 9 | S
% IS YH-THEH T Felr o1 | W 3T gSRI ST 379 %1 FeLued e H 76 I S9E F ¢ | TR
ol fasrdredi o HRu Sl 9 THT & Hdi H AT TH @ 2 |

wheed A fafafaa 5 9 o =2 o -
1)  HAS GHR
2) TR yH U
3)

)

2

(
(
(3) Hdlfad =aaER
(4) 94 T=ER
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52




Question ID:- 14

‘o1 T = & 9 % ifohd WIeg H G §

(1) el

(2) =R

(3) ey

(4) eAfeERTr
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

T T SYR TR STHT 9eg 7 &
(1)  Termmelf — formefti

(2) TR - T
(3) o™ - FHad
(4) S - TS
Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘Fer’ Isg H qAHETE Ies T §
() @

(2) aEA

(3) wfe

(4) =R

Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17




Foreferfiae et orms 7 & srme 3 -

(1) Fpfed - |l
(2) S=fd - @=
(3) ffad - ga
(4) @9 - ¥
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18
T % SR W 21T v T |

(1) e - gt

(2) fogr - fagst
(3) FA - o
(4) =@l - g

Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

‘TAE H T e T e 6 Hew o1 ¥

(1) el &1 A @Al

(2) SRS

(3) ot =1 wareR 7 &

(4)  To98TdT o1 SRR HTAT
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20




“TSrEeRl ST A1 o, R SIS 1§ |~ S % (ifehd Wes H HelAH €

(1) HeHer=es

(2) TstaT==®

(3) YEHEEH

(4) Trvggar=s
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT28FEBSH2

Question ID:- 21

Who won the Rashtrita Khel Protsahan Puraskar 2022 under the category ‘Encouragement to
Sports through Corporate Social Responsibility” ?

(1) India Infrastructure Finance Company Limited

(2) Coal India

(3) Kalinga Institute of Industrial Technology

(4)

4) Odisha Industrial Infrastructure Development corporation

‘“FRINE FHEIFS M F J1298 | el ] Jiediea’ 4o & i T Te Teams TR, 2022 faa
S ?

(1) fedn Shigs=R wE1d S fafies

(2) @@ sfe

(3) whfeim TEIge A fefga THest

(4) eAfewm seficad SwRgHat SaaHe FHNIEH

Options:-

.1, Option ID :- 81,

. 2, Option ID :- 82,

. 3, Option ID :- 83,

- 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

Which feature film was awarded the ‘Best Feature Film’ in the 68th National Film Awards, 2020 ?
(1) Soorarai Pottru

(2) Sivaranjaniyum Innum Sila Pengallum

(3) Thinkalazcha Nishchayam
(4)

4) AK Ayyappanum Koshiyum




68 o T fohew TERR, 2020 § ‘He 92 wr=l fheq’ o1 qWanr fohem Sitar ?
) HIRE WEE

2) THarsnfH s=m e dmeay

) TersmersEn fAe=Em

) T % STAYEH HIRIH

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

- 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

Consider the following statements regarding the legendary athlete P T Usha and identify the
incorrect statement/s.

(A) She has been elected as the Pesident of Indian Olympic Association.

(B) She was elected unopposed as the President of Indian Olympic Association.

(C) She is the second woman to occupy the post of the President of Indian Olympic Association
(D) She is a member of Rajya Sabha.

Select the right answer using the code given below

(1) (A), (B) and (D) only
(2) (A), (C) and (D) only
(3)  (A), (B) and (C) only
(4 (A) and (B) only

IFE UYeie ot 33U F ey § fefafeg weEl © faEr FifE @R o Fu9 F 9ggE Fife
(A) 37 IR STeifeuss de 1 STe g T E |

(B) 3= fAfely vrera siafioes g =1 s1ea Traifaa foen = 2

(C) & R SieAftass G i 31eA81 g I i arell gl afgen €1

(D) & T5F |9l FE=A T |

== T 7T 12 1 YA FId B HEl I AT I HITC

(1) dd (A), (B) S (D)

(2) W (A), (O) 3R (D)
(3) Fad (A), (B) 3R (C)
(4) ad (A) R (B)

Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,
- 4, Option ID :- 92,




Answer Given:- 1, Option ID : -89

Question ID:- 24

Which book/Title was awarded the Bal Sahitya Puraskar 2022 in Bodo Language by the Sahitya
Akademi ?

(1) Langwnani Bokhall Gotho
(2) Abau Abwyni Solo

(3) Gosaini Gwjwn Nwjwr
(4)

4 Solo Bathani Zolonga

Tifeea seReH! g1 el 9T § & Sifecy R, 2022 fre g & wee fwe e ?
) ST ST T

2)  EZ: AT Hiddl

) TTEHT Tesad Aee

) T SgE ST

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

Who won the Presidential election in Brazil which was held in October 2022 ?
(1) Luiz Inacio Lula da Silva

(2) Dilma Rouseff

(3) Gustavo Bebianno

(4) Jair Bolsonaro

FToRe, 2022 § wrsiiel § g weefd & g | i fasrd @12

(1) Tz gafa gen et faean
(2) feom w=w
(3) TS SISl
(4) SR SIAHHAR
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97




Question ID:- 26

In propounding the ‘Newlands’ law of Octaves’, John Newlands derived the Idea of Octaves from
where ?

(1) Ocean
(2) Music
(3) Economy
(4) Thunder

‘SJeieq @ ST Higs’ &1 Td Fd 999 SH-oied & sHieeed 1 fa=r fead figen 2

(1) HEErH

(2) HEH

(3) refETen §

(4 TSHEH
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

The Political Symbol of the “Winged Woman” during French Revolution conveyed which of the
following ?

(1)  Personification of the law

(2) Enlightenment
(3) Symbol of eternity
(4) Colours of France

TR wifd % SR dEaret gfeen’ (fve gi9) w1 wefos o efafes § § frge wdie a2
(1) A =1 AEE RO

(2) AR

(3) wIYEdE

(4) WE® =S
Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28




Election in India for the post of the Vice-President is held in accordance with which of the
following ?

(1) System of Alternate Voting

(2) System of Proportional Representation
(3)  First Past the Post system
(4)

4) Two Round System

YRd § I9-Tpufd 9 % o fratem frefafe § § froes san fmn s &2
(1) Sefeas AagH Tgfd

(2) sruifas gfaffaa gfa

(3) T =gHd Ygfd (W& U fg U fgem)
(4) Tg—=oita wgfa

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29

Which of the following Union Territories in India has the highest percentage of population living
in households that use improved sanitation facility according to the National Family Health Survey
2019 - 2021 ?

(1) Lakshadweep

(2) Chandigarh

(3) Puducherry

(4) Andaman and Nicobar

T YRER ey Faam 2019-21 F STER YR F 9 9 T57 &4 & 90 § @9 et AT grI oo
Tl A S TAE H 1 Afava et € 2

(1) &IEH
(2) e
(3 EF
(4) iEHF 3R fEr

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113




Question ID:- 30

Which among the following is a Rabi Crop ?
(1) Mustard

(2) Maize
(3) Cotton
(4) Paddy
Frafafed 5 8 =R df = =t wEa
(1) i
(2) HEHI
(3) =hU™H
(4 oM
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT28FEBSH2

Question ID:- 31

How many pairs of consecutive numbers are there in the following number sequence each of
which is in ascending order (Like 1, 2) ?
7 67 86 756877865 450634

() 5
2) 6
3 7
(4) 8

Frfafea 9@ w0 § T8 feas 9en-g & 90 9 yeis A ST0E #H | ¢ (39 1,2) ?
76786 7568778654563 4

1)
)

LSS S
—T

7
( 5
( 6
( 7
( 8

iy

)

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124




Question ID:- 32

Eight birds Z, Y, X, W, V, U, Tand S are sitting on the corners of octagonal fencing, facing
towards the centre. Y’ is sitting between “T" and “W’. ‘S’ is third to the left of “Y" and second to the
right of ‘Z’. ‘X" is between ‘Z’ and “T" . ‘Y’ and “V’ are not sitting opposite to each other. Who is
second to the left of V ?

(1)

I~

o
N X agw

(2)
(3)
(4)

=

FRBUHZ, Y, X, W, V, U, THR S TF 312y & IRl W IHF =% &l X GE FF 3 gL Y, T
SIW & 1= SI@1 81 S, Y o ATt SR 6 T W A 27 o SRl ST g8 R TSI E 1 X, 2 A
‘T EE H S ¥ 1Y SRV S U g 3R ST E WS ¥ 1V R Rl R g T WA §el
272
(1)

N = c 8

(2)
(3)
(4)
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33

A man walks 10 metres towards west and turns to right, walks 8 metres and turns to left, walks 7
metres and turns to right, walks 5 metres. He then turns to right, walks 20 metres and finally turns
to right and walks 3 metres. In which direction is he facing now ?

(1) East
(2) West
(3) South
(4) North




e At e Fi SR 10 Hex Fe € SR S R gre 8 Hied el € IR fR ardl Sl gHet 7 wWieX
Ferl & 3T R gl ofi gwet 5 Hied Tad 8| o 9 < SiX gEa 7 @i 20 He Se € a9 ofd °§ Sl
TR HAeT ¥ 3R 3 HieX Jorar &1 319 39 4g fra fgm d §2

(1) 99
(2) ufv=H
(3) =i
(4) SW
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is /are sufficient to answer the question.

Q : What is the rank of Raju from the top in a class of 30 students ?
Statement I : Raju’s rank from the top is two ranks below Jatin who ranks 27 from the bottom.
Statement II : Raju ranks four ranks above meenu who ranks 21% from the bottom.

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient.

(3) Either statement I or statement II alone are sufficient to answer the question.
(4) Both statements I and II together are necessary to answer the question.

= wek weA fean e & forrer are < e 18R 11 feu 7w € il € wees o % serd &1 T €1 e
fota ifse o fou o em 5 9 91/ R U9 o 3 29 & fore gaiw @/ €1
Q: 30 BTEN & oI H TS FT T Y A G TE 7?2

HUA 1 : TS F TR H T S § 2 H A9 % fomem 9" 8 27 9 = 7
HUF 11 : T &1 TH 1 & =R T o) § forwem = 8 21 & w1 3

(1) <R I 3THe! Y9 1 SR o1 & fow i & S she 11 $7hel o el &
(2) /AT 11 31Fe! F9H H ST <A & forw gt & Safeh e 1 31hel 9o el ¢
(3) THYA I 3TYA HYA 11 3Thel T Tl ST o & A T T

(4) HATI IR 11 faerst 997 1 3| 37 & fon smaws g1

Options:-

.1, Option ID :- 133,

« 2, Option ID :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,




Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, square represents married, circle represents educated, triangle
represents men and rectangle represents dancers.

8

4
7} 11
- N\
12 32X 16
14 LS

[ B\

How many educated unmarried men are there who are not dancers ?

() 3
(2) 4
3) 6
(4) 8

= few s H, w0 faanfadi o, ga fafae =, e gedi &1 qen smE Tde = afaffae w2

8
4
7/ i |
- \
- 3V 16
14 S

/ 5\

TH foran ffem, siferenfed gew § S e 161 © 7

(1) 3
(2) 4
(3) 6
(49 8
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Subject : CL_Q36-Q40_PRT28FEBSH2

Question ID:- 36




Which of the following devices is not used as an output device ?

(1) Printer
(2) Mouse
(3) Monitor
(4) Speaker

Trfafad # 4 fog feary 1w Aeeye feary (output device) % 9 H WART &l foRA1 STl € 2

(1) e
(2) HI=H
(3) WX
(4) T
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37
Which of the following is popular example of web browsers ?
(1) Microsoft Edge
(2) Microsoft Office
(3) Microsoft Teams
(4) Microsoft Outlook

frefafaa 5§ 9 39 s (Web browser) =hl AT 3SR & :
(1) HIEShIETR TS

(2) WESRIER AR
(3) HESHIER 2

(4) TEHIER ABTH
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

- 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38




Which of the following is not usually a source of the viruses entering your system ?
(1) Pen drive

(2) Microphone
(3) Email attachments
(4) Downloaded free software

Frafafas § | it w2 a9 foey | oy fog a9 999 9681 S 8 2

(1) 9 grEd

(2) HEHEHA

(3) E-Ha seHH

(4) TRAAMSS W AFRAT
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which type of computer network is generally configured when two buildings of a school, located
within same campus, are connected together using optical fibre to share some data ?

(1) Personal Area Network

(2) Local Area Network

(3) Metropolitan Area Network
(4) Wide Area Network

e Ueh IR o T fodt fammerd & <1 vari &l $2 211 9=l 3 & fau Aifesa wEar H1 THr s
oo H e foFan S € a1 STHAR W fohd YRR o e Jeadh o1 eI TR s § 2

(1) 97 Ui H2ae

(2) wERd TR FeE

(3) Hrdrferes ufen qeesh

(4) <mES U AeEs
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40




In the browsing protocol https, s stands for ?
(1) Secure

(2) System
(3) Services
(4) Software

ST Yeid hitps H ‘s’ 319 §

(1) fowr
(2) TaEesm
(3) Wl
(4) HigzaE
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT28FEBSH2
Question ID:- 41

Which one of the following statements is incorrect ?
(1) Growth is a broader term than development.
(2) Development is a broader term than growth.
(3) Growth refers to quantitative changes.

(4

Development refers to qualitative changes as well.

fr=ifera § 9§ ®H 91 %YH Tod © 2

(1) dfg faswm =t smden sifees ==ms 92 81
(2) fapm gfg =1 g § Afes =9 18 €|
(3) afs =1 arew AT afEdT ¥R

(4) Tomrm = areqd queres REdHT 9 off €1
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
- 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161

Question ID:- 42




Which of the following is correct ?

At the time of birth an infants head happens to be of his/her total length.
1

3
1

2 3
)

B =z
1

Ol

foifera | %9 w1 e wEl § 2

S % To fory &1 for suet e e & el €|
1

D 3
1

2 3
1

® 3
1

4 3

Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43

Read the following :

()
(b)
(©)

Child is acquiring simple basic language skills.
Child is learning to give up the ‘T’ feeling and develop the ‘we’ feeling.
Child can control overt expression of emotions.

At which stage of development the child is ?

(D)
(2)
(3)
(4)

Infancy

Early childhood
Later childhood
Adolescence




Foretiferd 1 9w -

(a) @TeTh T A 1 Hee AT @ R

(b) eI ‘T T WA W T I e fasRfad R @ R
(c) =ersh Haril 1 wehe stfyeafaa 1 Fafa o g 21
ST % SMUR TR ST foh e fosrd & forg =Ror § 22

(1)  SrvmEmEE

(2) SRS ocd Hld

(3) e ded HEA

(4) ferviEEen
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Which of the following statements is not true ?

Adolescents :

(1) Desire and achieve socially responsible behaviour.

(2) Look forward to marriage and family life.

(3) Seek new relations with age mates of opposite sex only.
(4)

4 Try to achieve assurance of economic independence.

freifera § 9 9 91 %94 TE TR © 2

fervire :

(1) HHEISE Y § STIE IR i 3291 T & AR 9 39 Ue &d 2 |

(2) fomme iR qiftanfier Sher 1 =1 Ed € 3R Scgehal Jae S weian i €1
(3) ke faudia feitit 0 a7 o & =afeqi & @y U dey s =ed € )

(4) oTfiF T 1 ST 9T F3H 1 FIS F@ 2

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45




Which one of the following does not belong to “formal operational stage” ?
(1) Inductive thinking

(2) Hypothetical - Deductive thinking
(3) Inter propositional logic
(4) Interactive thinking

f=ifera § 9 = ¢ sTa=nfier isareass e’ O Yefed & § 2

(1) AT feid

(2) UiweTHHF — TS e
(3) 3id: deharsAIH ok

(4) oa: Torareaes feaq

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177

Question ID:- 46

At which age group children develop recognition of needs and desires of other children ?
(1) From 5 to 8 years

(2) From 9 to 11 years

(3) From 12 to 14 years

(4) After 14 years

forg T a7 § 9] § 37 Iicieh] &l Aavaehdel] SR SAferssti i 9g= &1 9 fasfad gar & 2

(1) 54 8=d

(2) 9911w

(3) 1291439

(4) 14 99 5 9E
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47




At which stage of character development, internal self criticism occurs ?
(1) Amoral stage

(2) Self centred stage

(3) Conforming, conventional stage

(4) Irrational conscientious stage

=i fawm & forg =wor 4 spvaniaftes e straraq &1 v fasfaa g g2

(1) amfaes =0 |

(2) 3AIcH Hf=d aeen §

(3) HIHE TR a1 H

(4)  SAfaeren! AT i srEE H
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

Complete the sentence :

‘Emotions are caught and not taught’ Therefore, teachers should

1) refrain from providing any guidance in the matter.

put their own example before the children for the refined emotional expressions and behaviour.

I —
I~

)
3) seek parents’ involvement in training children for right kind of emotional behaviour.
)

4)  enforce strict discipline.

TreifeRd o =1 qU Hife

‘et =t v feran S & SR Svemree TE dran €, ofdua SeErdeh o

(1) 39 AMc | fHE] Yo o1 AFGA i H 9Es ST =@ied |

(2) uRtsFa Gammegs Afvsafad o =raer & fau 3= arcei % THe W o S Wid H Afe |

(3) @l H FEIE GaTeHe SEER WeYd &3 & fau snere a1 gfefad w0 & foe ama-fuar =
wifae s =feu |

(4) TSR ST T LA =M

Options:-

.1, Option ID :- 189,

« 2, Option ID :- 190,

. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190




Question ID:- 49

Which one of the following is the most important primary agency for socialization of a child ?
(1) TPeers

(2) Siblings
(3) Family
(4) Pre schooling

A o FETsiER & fau feifea § 9 =0 geifas mewegel veid g2

(1) Ha=RefT e

(2) HETE WiE/aEA

(3) YRER

(4) pt H g 9 & & e (i-FpfeT)
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Orderly changes unfold from within in
(1) Maturity

(2) Growth
(3) Development
(4) Evolution

ey gfted= feifea § & faas i S9yd 2 &2

(1)  gRgerEr
(2 d9fs
©EREE]
CVEHEETE:

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51




Which one of the following statements is correct ?

(1) Creativity test gives more weightage to novelty and originality.
(2) Intelligence tests emphasize fluency and flexibility.

(3) Creativity tests are measures of accuracy.

(4) Intelligence tests also test creative abilities.

freifera § 9 =19 91 e T § 2
) YT &l Yer | Aatar of difeerar @ aifies vew fomn s 21
(2) Ffe T § geged 3R eEiern W SR feur s g
(3) gSiSiierdl qiaron GfegGen 1 HIYA § |
(4) dfg TN H GecHsE ArFare o | wiET foha S 2

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

Individual behaviour happens to be an outcome of the individual :
(1) acquired traits

(2) biological endowment

(3) social and physical environments

(

4) effort for crisis management

A Ader FAf o e =St 1 Iioms g § 2
(1) ifsia e
(2) e sifEE
(3) TmfSe &iR wfifaes s
(4) Hh-YaUT H TAH
Options:-
.1, Option ID :- 205,
« 2, Option ID :- 206,

- 3, Option ID :- 207,

- 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53




It will be most desirable, if schools concentrate on :

(1) preparation for academic excellence.

(2) development of traits of good citizenship.

(3) development of traits to face the hurdles of daily life.
(4) development of modern manners.

718 Ta e aig-rg g afe faememi § fifeg w eae sz o g
(1)  Vleriorh Sehudl &l Ta

(2) 331 AN S & Ui 1 faerm
(3) e Sftam =t snensii o1 qw # o fer fardreaned = fasm
(4) snyfe Tfd - Rarsil &1 siTiier & 1 T

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

Schools can be called social agents if they :

(1) organise various activities.

(2) transmit knowledge.

(3) educate about rights and duties.

(4) impart knowledge about traditions and values.

foremeri =1 wAfSrer stfrehal wel S Hehdl € Afg o
(1) fafy= s #1 srEsE & 2 |

(2) S % IR H E

(3) sifere iR Hdea % ar | fofem w5 €1
(4)  IIUS R gedi & FR H FH WSH Hd @ |
Options:-

.1, Option ID :- 213,
- 2, Option ID :- 214,
- 3, Option ID :- 215,

- 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55




Meena is a student who can think hypothetically and deductively and can solve abstract problems
and is concerned about personal identity.

She is at which stage according to Piaget’s stages of Cognitive development ?

(1) Sensory motor

(2) Pre operational
(3

(

)
) Concrete operational
)

4) Formal operational

T ek faenelf ufereares e o gedt ® oiR frmaaress a7 ot § qon o wmensti 1 7d
F § gud % v Fafws afera & ot | e wd ¥
ST & YR T Famd foh 9% afersht frst & HamTeTe foenr o frg =i § 82

(1) ol W=

(2) Y& Hfrareas

(3) A wHfkarcas®

(4) Sl w@iearas
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

- 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PRT28FEBSH2

Question ID:- 56

Which one of the following is not a key point for curriculum development in child centred
approach ?

(1) Selection of content and setting priorities

2)  Study of students” abilities and backgrounds

(2)
(3) Determining methods and strategies for learning the content
(4)

4 Determining the procedures of monitoring, assessment and evaluation

e hf-gd IR | g fei % fau faefafe § 9 = w929 96 716 82
(1) fowa-axg & =929 it wafewant feffa s

(2) fornfeli =0t drgarsii siv goyfa =1 siorm

(3) fawa-awg = faem F fau fafel ok weHifeEl 1 fuRo

(4) Tr, eTreRer SR gedie i fafei s fefo

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,




- 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

Diagnostic assessment is a part of :
(1) Assessment for learning.
(2) Assessment of learning,.
(3) Assessment as learning,
(

4) Summative assessment.

AR e e U I § ?
(1) e % fog smper

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

For following ‘Competency Based Approach” one would not require :

(1) Preparing the list of competencies to be achieved

) Arranging competencies in order of increasing difficulty

(2
(3) Identifying prerequisites of learning and making it a part of teaching-learning
( A

4) Ensuring course coverage during stipulated time limit

‘ZeTAT ST SUrTH 9T 3 T et stevEear el an ?
1) U ot ST el Haaied 1 gE Gan e

2

4

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 4, Option ID : -232

(
(2) CEIS Wl HISAE & F@d THH H AaEd HEl

(3)  AfErTa T qarOEST 1 TEEE HN SR W Faso- 21 w1 U 9r S
(4) Treifea woa-<i | s et e &




Question ID:- 59

(1) It lays emphasis on real learning experiences.

(2) It works well with experiment oriented topics only.
(3) Itis astudent led and individually refined method.
(

Frefafaa § | F0 F9as AR &1 TF Jae9s Te ¢ 7
(1) e arafas A SvE T as S e

(2) I Fad WER iy fausl w T8t ot T w7

(3) Ie U faned g aren aen =g €9 F uftspa fafu &
(4)

2

4

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

- 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Which one of the following is not a strength of experiential learning ?

4) It provides for choosing learning related work as a future career.

TE U el iR & T § Afermy el w1 g7 1 a9 gar €

Question ID:- 60

A teacher can establish rapport with students by :

(1) becoming an authority figure.

(2) playing a role of a guide.

(3) implementing rules strictly.

(4) impressing the students with knowledge of the subject.

T S1ATIF DE &A1Y ufs ey wenfud &R g 2
(1) T WikEhR TF 9= Hfeod o eht

(2) U HEfEY i iHe e

(3) Tradi #1 weE 4 ar] HH

(4) Terenfeiai =1 fawa o o9 9 gaifad

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
- 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61




Which one of the following is the limitation of Constructivist approach ?
(1) Emphasis on sensory input

2) Ignoring standardised testing

3) Acquiring knowledge by accepting the challenge

4) Democratic learning environment

(
(
(

frafafed o 9 920 SEAEE U S U e E 2

(1) WSt SA™eYe | g <
(2) HFHIFHT O i UL FHE
(3) A W TR HIh T U FHT
(4) ArewditeEs ST SEER
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which one of the following is correct ?

(1) Measurement is a process of quantifying some attributes.

(2) Measurement is a process of organising qualitative data.

(3) Measurement is a process of obtaining information relative to some known objective.
(

4) Measurement refers to value judgement on a phenomena based on both qualitative and
quantitative observations.

Freafafed § 9 -3 98 & 2

) H9A FS IO F G S BT U

) HIA IO STeT 1 SHAATed A i Ui

3) HIUT FS F(A 32 ok HUE SHRR Y T i Teh YiRan €
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g

Options:-

.1, Option ID :- 245,

« 2, Option ID :- 246,

. 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63




Teacher made tests are characterized by :

(1)

their scope for unlimited comparisons and interpretations.

their scope for covering as many competencies as possible.

their merit as a learning exercise to motivate students to develop good habits.
uniform directions.

% GRI, STEATYS GRI 1T, T TIE30T ki Fdoar = o =etar €1
sTeifa geredi oi sarensdi & foau 57 &9
7o HYg gerrel 1 Heal FH F AU 396 &3
foranfelri # sr=at emed foerfaa #ea & S1PRa & weislt sifrm s1vom & ®9 § 399h U9
s gue ey

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

Which one of the following is not a feature of group learning ?

(1)

More and variety of ideas are generated through brain storming,.
Errors are being identified and corrected easily.
Sharing of knowledge and experience is easier.
Student does assignment in her/his own pace.

frfafaa § | 71 e a1form =1 e fosma 7= 2 7

—_

(1)

(2)
(3)
(4)

Sifgw o & aeam F sifues oin fafim yer 3 fa=m som 3 €
Tt it TEH F1 S W@ E i % ST | guR S W@

T 31 STRY 1 e 31 ST €

fereneft aroet wife & fean o v (wEETER) #A E

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

- 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65




(1)

Which one of the following is not a step in the procedure for preparing a unit plan ?

Formation of proper units and such units for the prescribed syllabus
Formulation of objectives pertaining to the units

Preparing a list of TLMs prescribed for the teacher

Determination of methods of assessment

THTS A GAR 1 Ui § fefafag 8 9 - wen e 98 § 2

fafed wremsrn & fau swga sl oiv 3u-seal 1 frafo
A § Heifad 329l o wiaaea
s1ee & fere fruifa 31 wer. .+t 9= T
SR ki farferai 1 e

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

Question ID:- 66

Which one of the following is not a characteristic of learning process ?

Learning is continuous process.
Learning is outcome of interaction of individual with environment.
Learning is an active process.

Learning is essentially a formal process.

freafafaa 9 4 70 s1ferm gfeman &1 ue faeva =& § 2

sfermm ue Fad wiEa €

sAfermm =rfa =1 araERor & e g fEe we @ oy g1
sifer e s wfman 21

aafermy sifrarda: T sl gfwa 21

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
- 3, Option ID :- 263,

- 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67




Which one is not a function of achievement test ?

(1) Knowing to what extent the student has acquired knowledge in a topic

(2) Comparing achievement among students regarding acquisition of knowledge
(3) Diagnosing learning difficulties

(4) Predicting future success levels

frefafea § 9 0w guifta wie =1 s 98 €2

(1) I 5= 56 B 3 frg din aes et forom =1 s o foren 2
(2) 3% & HaY H Dl & &= G i ger wE

(3) sIferm el 1 fem e

(4) WSl W Wl qfersHETl

Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

Which of the following statements is true about multigrade teaching situation ?
(1) Mostly the situation is formal.

(2) Teacher’s presence is necessary.

(3) Cooperation among children is less.

(4) Variety of experiences are unlimited.

agaeit foner feerfa & aR § fr=fafed 8 9 «F-9 F2@ w8 €2
(1)  ifererivra: feafa sfoenfes 2t 81

(2) A9 i Sufefa SEvas &
(3) &= H HSAR FH B |

(4) erEl st fafaumr swdifig €
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69




Which of the following statements is not true ?

(1) Peer assessment helps students to consolidate their learning.

(2) Peer assessment helps students develop skills in meta-cognition.

(3) Through peer assessment students learn to give and receive constructive feedback.
(4) Through peer assessment students practice the concepts and skills explicitly.

frefafaa § § FF-ar Fom 928 7@ 72

(1) TETRt ewer faanfefai =i ot siftrmg =it g 99 Ferar F3 T

2) HEUS! @ ARl sl He-HAT (Meta-Cognition) H #hiviel foehfad & § e &l g
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Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

- 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

While asking a problem question in a class which of the following can effect the response
adversely ?

(1) Clear intent

(2) Use of double negatives
(3) Questions with correct answer
(4) Having no previous material to refer to

Fe § gHE U 2 w9 fefafad § 9 9 3w W gfded g9E S ekl § 2
(1) = R

(2) el THRICHR FH TEN

(3) W&l IW FH WY I

(4) e % fou fedt gd gt = A 2

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT28FEBSH2

Question ID:- 71




Normally ‘Inclusive Education’ is referred to :
(1) Girls Education

(2) Divyangjan Education

(3) Adult Education

(4) Non-formal Education

(1) =feren foan

(2) TeerirsE faan

(3) drg faen

(4) M= foen
Options:-

.1, Option ID :- 281,
- 2, Option ID :- 282,
. 3, Option ID :- 283,

- 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

What do you understand by the term ‘Mental health” in school education ?
(1) Social well being

(2) Physical well being
(3) Cognititve, Behavioural and Emotional well being
(4) Mental well being

fagme™ foan 4 ‘arfos @’ e 9 219 %2 gus € 2

(1) w9 § = 3

(2) VHRE T W = A

(3) HIAHAIHE, HERRIHF 3K HEAHF T H Y 1
(4) HHEEH B H WEI A

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73




Which one of the following is most relevant to address “Mental disorder” in school children ?
(1) Parent’s Intervention

(2) Medical help

(3) Creating awareness on mental health

(4)

4)  Regular appointment of professional counselling in schools.

faamerdt el 1 aafas faer’ & guE & fau fAafafeg § 9 5 @ gaifus wrhies @2

(1) = Toar =1 gy

(2) Tafee wgmET

(3) HFMHEH LA T ST Ug)

(4) Tommer | T R i fFafhd fgfe
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

- 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

The ‘Community Centres’ in society would ensure :
(1) Excitement among children

(2) Socialisation among children

(3) Behavioural change among children

(4) Thinking capacity would enhance

guTsl § Grgertaes s e gHivEd wd €2

(1) =TeTenl | IS
(2) STl H WIS T
(3) @eThl H SHERNIH Sewld
(4) o ama | ofg
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75




The condition of “Inability to learn” among school children normally referred as :
(1) Dyslexia

(2) Dysgraphia

(3) Autism

(4) Mental retardation

foremerdt arerent § ‘firmg § e’ & feafq = gmem: aafyae §

(1) d@TeF dFed

(2) @ dFHeT

(3) et

(4) HHREF HeA
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

What is the minimum quantum of disability prescribed to avail benefits for Divyangjan children ?

(1) 25%
(2) 50%
(3) 40%
(4) 35%

feeaiTs aTerenl o T stamn &1 ey o oq fafafde swemm @i =1ras e @ &2

(1) 25%
(2) 50%
(3) 40%
(4 35%

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

- 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77




The ‘Small sized head” among school children is technically in Mental illness known as
(1) Dwarfism

(2) Microcephaly

(3) Megacephaly

(4) Cretinism

foramerdt It § ‘91 TR & R’ w9 faer # qete! 9 2 feg 9\ d S S g ?

(1) =

(2) HESITEEHE

(3) TTfERe

(4) SEamA
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

- 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

The programme ‘Manodarpan’ recently launched by Ministry of Education, Govt. of India,
refers to :

(1) Training programme for teachers
2)  Recruitment of teachers

(2)
(3) Mental health of children
(4) Physical health of children

foregn TiAeT™, WG R BN BT & H U fohen T sy (weedn’ fred Hefid @ 2
(1) SAeATHI o T giee Frfswa |

(2) STEAYR 1 el 9

(3) TRl o WA Wreed 9

(4) dreTRl o IRITER @ 9
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79




Which one of the following is essential for professional health counsellors in schools ?
(1) Empathy

(2) Emotions
(3) Sympathy
(4) Apathy

foremerail # TR e W o fou fefafes § 8 SE-w o S sifer &2

(1) T
(2) Ham
(3) wErgyfa
(4)  HTEREA
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

Which one of the following factors is accountable for Mental disorder in school children ?
(1) Accidents

(2) Family atmosphere
(3) Harmonal imbalances
(4) Traditions and customs

faemerdt sl § arfas faer & fau fF=fafaa § 9 sA-a1 # e g2

(2) YRER = rerER

(3) BHM THITH

(4) TR SR Gfa-fars
Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

- 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT28FEBSH2

Question ID:- 81




In what sense a teacher is termed as an initiator ?
(1) Teacher is first to teach alphabets to children.
Students see teacher as their ideal.

(2)
(3) Teacher voluntarily comes ahead fo train students into learning skills.
(4)

Teacher is a friend, philosopher and a guide.

o a1ef T S7eATueh 1 URYHA! el S § 2
(1) 77T =i o Ugel! R e 9 2dl & |

(2) Toenedf sreme 1 sro et oTd #

(3) IR T A e farfefat sy safer e s wfvre S ¥
(4) 3TEATIH UH S, SRR ST HeARHR Bl & |

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which one is not a part of team building process ?
(1) Selection and initiation

(2) Coordination
(3)  Building rapport
(4) Cognitive process analysis
1 Tk o i feem 7@ 82
(1) =7 Td YRR FHAT
(2) HHEEIH
(3)  Hel¥ S
(4) I wfwan fagersm
Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

- 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83




Which one of the following is not a part of leadership process ?

(1) Assigning roles to every student

(2) Assessing cultural background of students
(3) Evaluating students

(4) Motivating students

= ° 9 319 U g Ui & 9 @ g 2
(1) W femmedf =1 yfgaemd &

(2) TeEnfer i AREFaE FeH =
(3) Terenfe=i =1 gedrishd T

(4) Toenfa=i =61 T e

Options:-

.1, Option ID :- 329,

« 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

Which one of the following is not a part of instructional role of a teacher ?
(1) Motivating

(2) Using easy language

(3) Informing
(4)

4)  Assessing the impact of instructions

1 1 | = =, v e w e yfte 1 s vr e 8 2

(1) sifugfa e

(2) HTE HH IR HEAT
(3) FENE

(4) 7wl & gumE S

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85




Which one of the following helps maximum in developing a sense of sympathy among teachers ?
(1) Touring far and wide

(2) Visits to hospitals

(3) Extensive reading

(4) shocks of life

foregeri & e yfa =1 sa faefaa & # SiF o S e § 2
(1) TS A ABM F

(2) SAETA ST

(3) e« Y

(4) e % Foh
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
- 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

For enhancing one’s horizon, which one forum will you recommend to a teacher ?
(1) Children Assembly

(2) Teachers Association

(3) Public Assemblies

(4) Mass Media

AT SR A9 KT 2 3T U fieer 1 o H= =it warg 61 2
(1) & H9

(2) foees ==
(3) = qurd
(4)

2

4) S TER-THE HIEIH

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87




Which school time table period will you suggest for games and sports ?
(1)  First period

(2) Period just after the recess

(3) period just before recess

(4) Second period

WS & Y el 1 G WION % i § TR 1 e &9 2

(1) 994 SHIA
(2) 3l g2 F Sk ARG H
(3) =l FE % 2k UEe 1 HEAN
(4) Tedr e

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88

Who can help school principal, Mr.Ali, the most in setting goals for his school ?
(1) Senior citizens of locality
A forum of school principals

4

(2)
(3) A group returned after visiting foreign schools
(4) Education officers

Y Thl o 3e9d 99 HL H [GEed THEEE, o el H1 hH JuY SR Herddl 6§l ¢ 2
(1) =it % =i @

(2) A GUFEEE # TE HY
(3) Toel wHal F 9O R el T g
(4) o sAfuerr

Options:-

.1, Option ID :- 349,
- 2, Option ID :- 350,
. 3, Option ID :- 351,

- 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89




Who can best help the teacher Mr. Sharma in developing his class plan ?
(1) Best and weakest students of his class

(2) His collegues

(3) His school advisor

(4) Parents

ST TN T A S A e, St vl 1 ety HeEs @ 9 § 2

(1) 3! el & Tal SR 3l FHasir fammef
(2) STk HeHHl
(3) TR Tl HARHER
(4) SAfgYTER
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

- 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90

Which one of the following is a learning community ?
(1) Staff Association

(2) Discussion groups on Tea stalls in the locality
(3) Hobby clubs
(4)

4 Parents Association

=1 1 | H ek s qyeE § 7

(1) = |fafd

(2) Sl = = ol HAT I T TR
(3) iferan e

(4) AfHTEH He

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT28FEBSH2

Question ID:- 91




What is the major aim of imparting school education according to you ?
(1) Socialization of children

(2) To fulfil constitutional provisions

(3) Development of a country
(4)

4) To make children aware of our rich cultural heritage

ek SATHR Sheil 1T WeH i 1 Y@ Sevd 1 8 ?

(1) == = TSR

(2) HaenfTeR YELHE %l T HEAT

(3) Wk T Hl fashH

(4) == I SO HYG WiEk{dh YUE H ST HIEAT
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
- 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Who emphasized on the integration of essential subjects, skills and capacities ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE - 2009

e fawdi, Sl aar guae] & This W) fHE 9a fgar?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE - 2009

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93




Who is expected to design a National Curricular and Pedagogical Framework for Early Childhood
Care and Education (NCPFECCE) ?

(1) SCERTs

(2) NCERT
(3) CIET
(4 RCI

T4 SeAEe SEYE S e (ECCE) #q Ueid Ures=aidt iR ey sreitg gf= (NCPFECCE) aH
&1 Foreier forad a1ifam 72

(1) SCERTs
(2) NCERT
(3) CIET
(4) RCI
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

What is the logic behind advocating competency based learning and education ?
(1) The spirit of equality

(2) Constitutional provisions

(3) Social pressure
(4)

4)  Each child learns at its own pace

Teran smEfa SiferTy iR faer Y W S % W N aeh § 2
(1) FHFAS F A=

(2) wfayu™ % wEUH

(3) HrHIfSiF gaire

(4) ST A e | Hiea ¥
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95




How a school can make its environment safe and secure for children ?
(1) By asking school guard to be vigilant

(2) By keeping children happy through games and food

(3) By asking students not to go out of school

(4) By adopting affectionate teaching learning techniques

= o foIu T Wha 9 AR F e oiR EiEE FE a e € 2
(1) TFe % HehER il BfER T & HEaht

(2) TS SR TS G = G

(3) T 1 WheA & BT A S I FahL

(4) Trequl foreror-sifenTy Y dehrh STIATRT

2

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
- 3, Option ID :- 379,

- 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

In the existing educational set up at school level, which right of the children is not properly handled
by our teachers ?

(1) Endless arguing nature of some children
2

(2)
(3) Proper feedback on home assignment of children
(4) Sitting of children in the class as per their height

To remain in the school throughout the day

e dferer gfee § waR ferenl g0 o= & -9 SifueR W et it e el fean S &2

(1) 8 I & AT Toh FE & DIF W
(2) N fed e H @

(3) =Tl < & hrd W wHfE wfagf

(4) ST SR F ATHAR FE H dSA H HIRN
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97




In case of non-availability of mother tongue language teacher, preferably in which language, a
primary class student should be taught ?

(1) Language of the State

(2) Hindi
(3) English
(4) Regional Language.

TIGUTST F STEAIE it SEARfd §, wF wefas wren F ek F v # v & ol & S
=faw ?
(1) T =1 AT

(2) f&t

(3) s

(4)  &Big-m
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

- 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Who, among the following invited experts from Russia and America for developing its report ?
(1) University Education Commission - 1948

(2) Mudaliar Commission - 1952-53

(3) Kothari Commission - 1964-66

(4) NEP - 1986

sTo1 g =1 oM | e 9 § foren w9 iR ot 9 fodmsi =1 e forn ?
) Tovafaemem fen smEm-1948

) HEla=R SAER 1552-53

3) ISl AN 1964-66

) U T Hifa (NEP) 1986

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
- 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99




Which one of the following types of curriculum you will recommend for teaching primary
classes ?

(1) Integrated Curriculum

(2) Subject centered Curriculum
(3) Core Curriculum

(4) Crash Curriculum

e Fasti § 9gH &g o = H ¥ forw uiewsal & ueR & e w2

(1) TeHIFHd TrST=ai

(2) fawm smenfa ures=al

(3) @S (BR) rsT=AEl

(4) AT TSl
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

For teaching at which of the following level, knowledge only of the teacher is not an important
factor ?

(1) Secondary stage

(2) Middle School stage
(3) Preparatory stage
(4)

4 Foundational stage

1 H | forg T R 9eM % o steames o1 Fhae 919 & U Hequl S e ¢ 2
(1) =reafms 'R

(2) fafest @ w1

(3) OERI e 'R

(4) FfFEED WY
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Subject : HINDI_Q101-Q120_PRT28FEBSH2




Question ID:- 101

Frerfeafiaa ey it sagdes Ut SUUT NTRA U9 &1 Heleh ST SIfeIg

I Aifec i wadl oSt fasrdr 3ue Ja ®9 § g gva &l a1 & | 35 98 fasear sa
YHE Y1 A ¢ foh hael 36 o g W HGR & o Hifecdl o GF- 98 S9! Hiferehdl Sl qaehl el
Hahdl & | 379 T3l S sl |eiehdn JHIoT R Hehdl @ | o9 wer nfter & | I & 9, i, a9
#H F gHE 9fag € i SH R wifeey adn 3 Fenedl § off IdiF yhfa g #i iR W ¥
oifefers g9 9 #0900 acd difec H YeRia E-5@, Sam-Ta4, 79 - faug snfe fadeh qen foada
TS o HHIHT T Ueh SAc (e 3TFG H 39 faeia 8 71 § €| |ifeca % foreft o1 =1 ot Sfa, s
ZEr w9 feam 2

wiftfes & | frefofad 9 9 foraes dig w9o4 ufag 22

(1) 3, % AR 9fer

(2) M, %9 AR FF

(3) =, ufe iR g9

(4) FH, % 3R Hiiiq
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

frerfafaa e st earTyees Ugeht SHUT AT U9H ohi Heldh ST ol

I Hifee o1 Tad 9t foviodr s9 go &9 § g g9 i wiee 81 39! g8 fadwan gat
Y@ a1 Wi ¢ o hoel 36 o 90 W HER & 3 Gifecd] o |HA 9% ST9A1 Hifetehdl ot qeTehT el
bl & | 79 a3 SAfGied i drefshdl THITd o Wehel § | 58 Wepw wififer & § s o 91, ek, qen
FH & goeE  giag € S 39 YR Wifew qen o Fensdl § ot IRdT Uhfa wue &t R W ¥
rfefeas g9a ¥ 790 aeod aifecy ¥ yeidia gu-g@, Sem-uad, &9 - faue sufe fadeh aen fouda
Tal & FHIHL AU U SHalcher AFG H Ik facia 81 59 # & | |ifecy & forsll sin =t eiat Sfan, wam
ZEl aua femr <

Frefafiaa § i & ey # o5 v ¥
(1) ST

(2) faRma

(3) Hifersrar

(4) HefeRa

Options:-

.1, Option ID :- 405,

« 2, Option ID :- 406,
. 3, Option ID :- 407,

- 4, Option ID :- 408,




Answer Given:- 1, Option ID : -405

Question ID:- 103

Freafafiaa ey ot SaTTUEs Ut SHUT TEd U9 ST Heleh ST SIfaig

A Hifeey &1 Gad 921 v 9% gor ®9 § fiog o= &l 951 81 39! =8 fasea g
T 1 Wit § 5 Fad e & 9a W HER F o Wiiecdl % WA 98 79 Hifershal i g el
Toha1 T | 3197 T3 SAfded i ek wonford o TR @ | 5 v anfider & H wia & 9, af, aen
FH F gog  gigg ¥ 3w s weRr wifee aun o= Faell § off vRdT yeia auwag w5 o ®E
arfefers ga== ¥ Tam oo afe ¥ i gu-g@, sem-udd, &9 - fawg snfg fadeh qen fooda
a1 & IO A°1 U ST Mg § 39 faca 81 51 8§ 81 wifeey & freft oin =t et Sfme, wam
72 g fe@ng g

ot fore fardroan & ot W iRt wifeca fawe # e1oet warent wew Hehdl © 2
(1) ifershan

(2) AifeReRe

(3) TH=EE HI AT

(4) STFFH

Options:-

.1, Option ID :- 409,

. 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

frfefaa s it eargesh Ugeht SHUT ST U9 i Teleh St Gifuig

I Hifeey it God St v 39 gor ®9 § fiom o= #t are 81 39 28 s g
Y@ 91 Wit & o et e & 9 R HOR F o Wiiecdl % 9 98 791 Hifershdl i gt el
ka1 B | 3797 T sifedca i anefehan wonford & gehan @ | 5 wehr anfider & 8 aa & 9, afe, aen
FH F gaag giag ¥ 3 SO yER wifee aun o Faell § of wRdT yeia 9uag 1 iR W
afefers ga=a ¥ 7w oo Aifec ¥ yeiiia ge-g@, Sem-udd, 9 - fawg snfg faded qen fooda
WTel 2 FHIHIV AT U STcllieheh STHg H I faeid 8 o1 § ¢ | Wifecd & forst i =i ot Sfign, wem
& g fow@ng g

Frefafead 9 9§ #R-m gm sreifes s foet= & s W st arfefors wmeem =1 =& @i 2
(1) =1fF -

(2) @Y - faug

(3) M - U

(4) H@-3¥@

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,




. 3, Option ID :- 415,

- 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

frefafiaa = st earyees Ugeht SHUT AT U9H i Heldh I i

I Hifee ot Gad ot foviodr S9 gor w9 § fiog g9 i ween 81 39! g8 fadwan gae
i 1 Wit § o Faa s % 99 W HUR F 9 |ifecdl % G 98 ST Hifcrehal i gdmeh wE
bl & | 79 a3 SAfeaed @ drefshd] THITd o ekl § | 59 yerr wifides & | swa o 9, ek, qen
FH & goam  giag € 3 3H UHR Qifew qon o= Fenstl ¥ ot yRd yefa gueed @1 SR W ¥
arfefeas gu=g ¥ waw aeod oifee ¥ yefdia gu-g@, sem-uad, & - faug snfe fadeh qen fouda
Tl 2 FHIERIU a1 U STellfoher e § 39 foeftq 81 o1 8 €1 wifecs & frdt oin =1 oa S, g
el qaa femr am

arfefersr qomaa 4 afag € ¢

(1) = RrEt &t wifid sl ST

(2) fowgl = arise TrfUd &9

(3) feorieht i fawdia el <1 ereiferh 2e | faef & s
(4)  STehdl H Tehal 1 HTEHT 1 SR

2

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

‘i’ vreg T EEETE e ©
(1) g
(2) @RTd
(3)

(4) o
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107




Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

TH GEME =T STETT g ¥

(1) =9 — 9

(2) fo=an - sty
(3) A — Il
(4) &R - @R
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Treferfaa faeimmell veg - gl § 16 ©

(1) =9 - fasq
(2) OGS - T
(3) fer - =gfa
(4 WH-T™
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110




(1) U
(2) =
(3) Hem
(4) ©MA
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

- 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

Frefafed & @ forg vee o =iem wfe &l 82

(1) TaeEo
(2) STE
(3) =fed
(4) feaeR
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘et Ielt F o T2 e’ geEy / drifad #1 9de o ©
(1)  den %1 3 | & S

(2) 1= HAEA % folU HeTd H ISl @
(3) X U AR & FHA IS 8

(4) ST § &M HET =18y

Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113




‘ST =g =%l U’ = frw ot 82

(1) =ewt
(2)  @hfal
(3) @
(4) HEEO
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

‘Trg i T S HT H S TR F YR S 18 79 S o fear ?

(1) ==
(2 %
()
(4) #S
Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

‘TS A g9 < hiaal % W R

(1) THE 3E
(2) e fgadt
(3) =gy fHe
(4) =ERFE T
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116




“ToHE WA BHN Fal ?

foree el 1 ferarn 2

T FE HT T GaAH L2

TR W H AT Taen 2" wRE e
o TR 1 8 2

(1) THuRT 58 feTse

(2) HreTere fgadt

(3) Heuy fHe

(4) TMIE AT
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

“gErgt fal ' T H o i S RE F= T 2
(1) foe =1 fema &

(2) ToEm =t IEEn 9

(3) TerEm =1 =gl 9

(4) e AT K HEAT §

Options:-

.1, Option ID :- 465,

. 2, Option ID :- 466,

. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

‘ieare ST’ % SR W FaET fF FE o7 =g R i Jg T 2
(1) 35! YT EH

(2) SEEE | R | &= % fag

(3) T % FE W

(4) =ie H e * fag

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,




. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

freferfiaa %1 gafera Fifm
(A) ST (@) e

(D) (A)-@v), (B)-(iii), (C)-(ii), (D)-(3)
(2)  (A)-(ii), (B)-(i), (O)-(1), (D)-(iv)
(3)  (A)-(), (B)-(), (O)-(iv), (D)-(ii)
(4)  (A)»®), (B)-(iv), (O)(iii), (D)-(ii)
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘ tfes FeraE WA A1 o SUR YL Farey foR 3iEH] s 2t Y I T ?

(1) " H

(2) TEAH

(3) & i dehd §

(4) STEH! % e
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT28FEBSH2

Question ID:- 121




Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it tll then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?
A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, “All the people visiting the Namghars on the bank of the

Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.”

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

What is a “dotara’ ?
(1) A kitchen utensil
(2) A household item

(3) A musical instrument
(4) A piece of hosiery
Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, “All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.”

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!’

The sight of a dotara changed the old man’s expression. How ?
(1) It made him sad and crestfallen.

(2) It made him proud and happy.

(3) It filled him with anger.

(4) It had no effect on him.




Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it tll then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!’

What was the old man’s response ?

(1) He talked about his ancestors with pride
(2) He ignored the new development

(3) He reacted with shock and anger

(4) He shouted at his wife

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124




Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. [ was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, “All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!

How did the old woman react ?

(1) She admonished her husband for his obsession with the past.
(2) She did not react to the situation at all.

(3) She joined her husband in talking about the past

(4) She kept mum and just looked around

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. T had not noticed
it tll then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

What does ‘peevish’ mean ?
(1) Tragic

(2) Bad-tempered

(3) Excited

(4) Foul-smelling




Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.
(a) has adapted

(b) noted film-maker Vishal Bhardwaj

(c) for Hindi Cinema

(d) some of Shakespeare’s plays

(1) (o) (b) (a) (d)
(2)  (b) (c) (d) (a)
(3) (a) (c) (b) (d)
(4)  (b) (a) (d) (¢)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127

Rearrange the parts in correct order to make meaningful sentence.
(a) medical challenges

(b) one of the biggest

(¢) Covid-19 was

(d) faced by the country

(D (d) () (b) (a)
(2) (9 (b) (a) (d)
(3)  (a) (b) (9) (d)
(4) (b) (0) (d) (a)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

- 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128




Fill in the blank with correct preposition.

It has been raining continuously Monday.
(1) from

(2) for

(3) since

(4) off
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

Fill in the blank with correct preposition.

It is impossible agree with you on this point.
(1) off

(2) for

(3) from

(4) to
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

Identify the correct tense form for the underlined parts in the given sentence.

He who pays the piper calls the tune.

(1) Simple Present Tense

(2) Present Perfect Tense

(3) Present Continuous Tense

(4) Present Perfect Continuous Tense
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131




Identify the correct tense form for the underlined parts in the given sentence.

Why have they been angry with me for a long time ?

—
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Past Tense

Present Perfect Tense
Past Perfect Tense
Simple Present Tense

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
“Aesop’s Fables’ are / a collection of stories / meant to be read / by children.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

Identify the part which contain an error.
Hardly I had / reached the station / when the train / started.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

Choose the word nearest in meanjng to the given word.

RELINQUISH
(1) Adopt
(2) Hate

(3) Discard
(4) Frown

Options:-




.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the word nearest in mealﬁng to the given word.
ASSENT

(1) internalise

(2) adopt
(3) welcome
(4) agree

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136

Choose the word opposite in meaning to the given word.
HUMBLE
(1) Confident
(2) Proud
(3) Aggressive
(4) Dominating

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

- 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the word opposite in meaning to the given word.
THRIFTY

(1) Miserly

(2) Stingy
(3) Extravagant
(4) Generous

Options:-
.1, Option ID :- 545,
« 2, Option ID :- 546,




. 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the part of speech of the underlined word.

Smoking is injurious to health.

(1) Adjective

(2) Noun

(3) Verb

(4) Conjunction
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
He placed an order for a cup of tea.

(1) An order for a cup of tea has been placed by him.

(2) A cup of tea was ordered by him.

(3) An order for a cup of tea was placed by him.

(4)

4)  An order for a cup of tea is placed by him.

Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part of the sentence.
The car that he bought yesterday looks elegant.

Noun Clause
Adjective Clause
Adverb Clause

Principal Clause

—
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Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,




« 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Subject : MATHS_Q141-Q160_PRT28FEBSH2
Question ID:- 141

In 4650423 sum of place value of 4 is :

(1) 1000400

(2) 1000100

(3) 4000400

(4) 4000100

4650423 H 4 3 I T 1 A0 § ¢
(1) 1000400

(2) 1000100

(3) 4000400

(4) 4000100

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
- 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

Which of the following statements is wrong ?

(1) An angle whose measure is 9()°, is called right angle.
(2) An angle whose measure is greater than 9("and less than 180", is called obtuse angle.
(3) An angle whose measure is 18(0°, is called reflex angle.
(4)

An angle whose measure is less than 90, is called an acute angle.

freferfad sl § 9 < F 91 7ed § 2

(1) U = foreent 719 9o €, THERIV FHEcw 2 |

(2) U vy fogeRt |9 gor | s W] 1800 W FH €, AfieE HIv1 FHEww ¥
(3) W v formeRt AT 18- €, TREdT 17 e ¢ |

(4) T BV G O19 9g° T HH T, A HIV FEART T

Options:-

.1, Option ID :- 565,

« 2, Option ID :- 566,

. 3, Option ID :- 567,
« 4, Option ID :- 568,




Answer Given:- 2, Option ID : -566

Question ID:- 143

The perimeter of a rectangular park is 5 km, 474 m. If its length is 1 km 782 m, then its breadth is

(1) 0.955 m
(2) 1.005 m
(3) 0.905 m
(4 0.950 m

e SRR UTeh 1 YRATY 5 km 474 m 8 | Ffg 391 @@E 1 km 782 m @, ol 3HH! A1SE @ ¢

(1) 0.955 m
(2) 1.005 m
(3) 0.905 m
(4)  0.950 m
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144

It is given that a family consumed 38 kg 435 g flour in the month of October, 42 kg 245 g in the
month of November and 29 kg 798 g in the month of December.

Based on above, which one of the following statements is not true ?

(1) Total consumption is 110 kg 478 g.

(2) Difference of highest & lowest consumption is 12 kg 447 g.

(3) Flour consumed in November was 3 kg 810 g more than that of flour consumed in October.
(4) Flour consumed in December is 7 kg 607 g less than that of flour consumed in October.

fear 1 € fop e ufER F S1ee o 91 H 38 kg 435 g, T o HIE H 42 kg 245 ¢ S foEer o HIE
o 29 kg 798 g 31 =1 IUHMT ot |

o R R, Trafafed § 9 @ o e od @i 22

(1) e S9HRT 110 kg 478 g T

(2) WaH AfEep ST W HH IUHRT I ST 12 kg 447 g T

(3) TR H S9N g1 A, FFER H YT g A H 3 kg 810 g AF T |
(4) Temmer o 3usin gom ome, ReR H 3T gL AR ¥ 7 kg 607 g FA R
Options:-

.1, Option ID :- 573,

« 2, Option ID :- 574,
. 3, Option ID :- 575,




« 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145

Box A measures 20 cm by 5 cm by 4 ¢m and box B measures 16 cm by 5 cm by 3 em.
Based on this information, which one of the following statements is correct ?
(1) Box B has greater volume.

2)  Volume of box A and box B are equal.

%)

(2)
(3) Difference of volume of box A and box B is 5 cm?
(4) Box A has greater volume.

fes A &1 A9 20 cm x 5 cm x 4em © 3T f&s9 B &1 ®19 16 cm x 5 cm x 3 cm ¥
3G SFHE % 2R R frefafed § 9 96 o w5y wé@ @ 2

(1) fe=3 B =1 sraA sifess @1

(2) fe=3 A @i fes3 B ras 9 |

(3) fesd A oir fe=u B % el & S5 em3 % |

(4) Test A %1 amas siferss B

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

- 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146

Using digits 4, 0, 9, 8 form the largest and smallest number of four digits (repetition is not allowed).
Sum of these two numbers is :

(1) 13029
(2) 13929
(3) 10329
(4) 13938

S 4, 0, 9, 8 T YAN Lk IR 3] Arel Gad a8l SR HIH Diel S &A1 ( G &I A 76l § )
ST | T BT TS A ¥

(1) 13029
(2) 13929
(3) 10329
(4) 13938
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,




« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

In a school, after prayer classes start at 8 : 25 am. If each period is of 35 minutes, then fourth
period will start at :

(1) 10: 05 am

(2) 9:35am
(3) 10:00 am
(4) 10:10 am

% faeme™ § e % U e 8 : 25 am W R ! € | FfE ek diftae sy 35 el &1 €,
=ren difre g g

(1) 10:05 am W
(2) 9:3>am™
(3) 10:00 am WX
(4) 10: 10 am
Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148

Which of the following fractions is in its lowest terms ?
, 2
, 3L
(2) 186
.9
(3) 156
5 2
(4 152




FEf=Eiq s d T BT 48 ?

28
1 7
31
2 g8
9
3 136
57
4 15

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

Choose the odd one out.




Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
« 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

Count the number of rectangles in the given figure.

—X
oo

2
O

P e T T T e
= =
= w0
e e S
~]




&Y ¢ syepfa H SrEAl 1 HE w1 1 it

(1) 8
(2 9
3 7
4 10
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

Supriya bought two shirts for I 724.38 per piece and three cardigans for I 936.46 per piece. How
much she has to pay ?

(1) < 4257.04

(2) T 4285.34
(3) ¥ 4268.24
(4) T 4258.14

gften 3 1 &S T 724.38 9fd 99 @i 52§ @diEl SR @9 FERE T 936.46 Ui 91F # @ | @liw 139
e e S 2

(1) T 4257.04

(2) ¥ 4285.34

(3) T 4268.24

(4) T 4258.14

Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

- 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152




Which of the following statements is wrong ?
(1)  All the faces of a cuboid are identical.

(2) A square pyramid has five faces.
(3) A triangular pyramid has six edges.
(4) A sphere has no vertex and no edge.

Frfefad w9, w9 91 Ted €2
(1) T = F it Hersh THH B ¢ |

(2) U R i % o et 2 g |
(3) W TryeeR faufae % = fem @ §)
(4) W TRl ST A A I Ea € SR T &
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

Next number in the series, 1, 50, 100, 5000, 10000, ? is.

(1) 50000
(2) 500000
(3) 100000
(4) 1000000

gft, 1, 50, 100, 5000, 10000, 2 H 37l H&T % :

(1) 50000
(2) 500000
(3) 100000
(4) 1000000

Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154




Pappan walks 4 km 812 m in 2 hours. In 5 hours he will travel a distance of :
(1) 11 km 930 m

(2) 12 km 300 m

(3) 12 km 30 m

(4) 11 km 630 m

quF 26 H 4 km 812 m F& © | UTE He i A1 H 99w T

(1) 11 km 930 m
(2) 12 km 300 m
(3) 12km30m
(4) 11 km 630 m

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Kunti has 3 buffaloes. On Monday, they gave 9. 488 L, 11.375 L and 12.643 L of milk. She sold
29.250 L milk to her regular customers. Now milk left with her is :

(1) 5.156 L
(2) 3.956 L
(3) 4.250 L
(4) 4256 L

el oF I 3 Y § | HFER 1 3% 9.488 L, 11.375 L 312,643 L g% a1 399 &9+ Fafad areehi 1
29.250 L3 o9 fean | o71el S9h qrm 9w gu § -

(1) 5.156 L
(2) 3.956 L
(3) 4250 L
(4-) 4.256 L
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156




The least number of five digits which is exactly divisible by 75 is :

(1) 10050
(2) 10025
(3) 10015
(4) 10040

3 UTd il i Fad B dem, s fw 75 | yofaen fawfsa & s 2

(1) 10050
(2) 10025
(3) 10015
(4) 10040

Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

Which of the following statements is false ?

(1) To convert dam into dm, you have to multiply by 100.
(2) To convert mL into dL, you have to divide by 100.

(3) To convert hL into L, you have to multiply by 100.
(4)

4) To convert kg into dag, you have to multiply by 10.

Frfafad Fuei § | % 91 o €2

(1) dam 1 dm H 98 % feIT A79eR1 100 H 7[00 HTA BAM
(2) mL#F dLH gga % feu et 100 | 9 A BRM
(3) hLe LH gge % o srepr 100 9 00 1 B |
(4) kg ®ldag | =eel & feTT 391 10 § 0N LA 2001 |

—_

2

Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158




Roman numerals :

CXIX, XCIX, CXXI, CIX and CXX can be written in increasing order as :
(1) XCIX, CIX, CXX, CXIX, CXXI

(2) XCIX, CIX, CXIX, CXXI, CXX

(3) CXXI, CXX, CXIX, CIX, XCIX

(4) XCIX, CIX, CXIX, CXX, CXXI,

2

CXIX, XCIX, CXXI, CIX 3R CXX & agd %9 § foran <1 gaan & -
(1) XCIX, CIX, CXX, CXIX, CXXI
() XX X, CXIX, CXXL CXX
(8) XX, CXX, ©xax. CIx, XCIX
(4) XX, CIX, CXIX, CXX, CXXI,

Options:-

.1, Option ID :- 629,
- 2, Option ID :- 630,
. 3, Option ID :- 631,

- 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

rd
A hall is 42 m long and its breadth is = of length. It's floor is to be covered with tiles of 50 cm
W

length and 30 cm breadth. Required number of tiles will be :

(1) 3290
(2) 3620
(3) 3920
(4) 3260

w%‘mﬁaﬁrﬁgm%aﬂiaﬁg@aﬁéﬁ%%lgﬂ%tﬁﬁfﬁ?@?ﬁﬁmmé,ﬁﬁﬁaﬁé 50 cm
3iR ATSE 30 cm ¥ | SEYIF TEE! HI AT

(1) 3290
(2) 3620
(3) 3920
(4) 3260
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,
. 4, Option ID :- 636,




Answer Given:- 3, Option ID : -635

Question ID:- 160

Monthly budget of a family is shown in the pie chart.
Food Rent

Misc.

Education Entertainment

Savings
If savings of family is ¥ 750, then monthly income is :
(1) ¥ 21000

(2) % 20000
(3) T 12000
(4) T 9000

e RER 1 Wi awie % =9 § 39 R femrn g

e T

Y
e THISH
EEE]

¥fg YfEar # 99 T 750 F 8, ° Hias 39 © :

(1) & 21000
(2) ¥ 20000
(3) ¥ 12000
(4) ¥ 9000

Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Subject : EVS_Q161-Q180_PRT28FEBSH2

Question ID:- 161




Below are two statements. Choose the correct answer from given options :

Statement (I) : Carbon Dioxide can be stored as a liquid in cylinder at low pressure.

Statement (II) : CO, expands enormously in volume and cools, when released from the cylinder.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

=1 <1 e fou e ¥ feu gu fommedi 9 | wEt 3w A = =

HAT - (1) : et <@ W e eEsiiaEe 59 % w9 H fafdet § okl o "t §
O - (1) :  Tafdist § 818 o W CO, 55d ifers herdl © 3l 3t & =t §1
(1) e (I) ST (11) 2Hi T

(2) W (I) SR () SHI Terd €1

(3) YA (I) TEl € g YA (I1) TTewd |

(4) U (1) T € TG FUH (DT

Options:-

.1, Option ID :- 641,

- 2, Option ID :- 642,

. 3, Option ID :- 643,

- 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

Such plastic which can get deformed easily on heating and can be bent easily, are called :

(1) Thermosetting plastic
(2) Thermoplastic

(3) Rayon plastic

(4) Nylon plastic

T iR i1 74 T 9 SEE § fosd 81 S & SR Siergas g3 Sl 8, 9 Hedn § ¢
(1) gHEfen wnfes

(2) emfEenfEE

(3) U wifE®

(4) FEEAA wlfEs
Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
. 3, Option ID :- 647,
. 4, Option ID :- 648,




Answer Given:- 1, Option ID : -645

Question ID:- 163

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Pasteurized milk can be used without boiling.

Reason (R) : Pasteurized milk is free from microorganisms.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

51 21 e fou Tu €| u i TR (A) 21T TE I RIOT (R) FE T ¥ | A 5 T FE w5 wer
Y T I FH =T B

PRI (A) : TTvahd g8 w1 fa JaTel S5 fohar S Fear € |

T (R) : WI=Ihd g8 Gersial § g6 2 & |

(1) (A) 3R (R) 91 9@ €, 31 (R), (A) I el =0T & &

(2) (A) &R (R) EHI ¥@ & W (R), (A) F1 T& = 7]
(3) (A) W T, T (R) T &

(4) (A) TR ¥ W (R) HE B

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Which of the following statements are true about Lactobacillus Bacteria ?

(A) Curd contains several microorganism and Lactobacillus is important among them.
(B) Bacteria namely Lactobacillus converts milk into curd.

(C) Lactobacillus Bacteria multiplies in milk and converts it into curd.

(D) Lactobacillus Bacteria can be seen through the naked eyes.

(1) Only (A) and ( )

(2)  Only (B) an

(3) Onlv (A), (C "md (D)
(4) y (A), (B )=md ©)




frefafad weEl § 9 oF ceRsfged 7 stan] & Hed J 98 § 7
(A) & H s gausia T S § o sea ey uaE 2

(B) ORI e AT SaT g 1 g8 H ufafid # g

(C) OrEREfEed e Sam] g8 #§ S99 * 39 Tel | ufafdd & 2 F1
(D) iaRSEed AT ST &1 i1 I8l 9 @1 57 a1 € |

Options:-

.1, Option ID :- 653,
- 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

Which of the following, statements are true in the context of irrigation ?

A) Supplying water in the fields at regular time and intervals is called irrigation.
B) Time of irrigation varies as per the nature of crops.

C) The frequency of watering is comparatively low in summers.

D) The seasons don’t influence the frequency of irrigation.

) Onlv (A) and (C)
2) Only (A) and (D)
3) y (A), (C) and (D)
4) Oﬂly (A) and (B)

frfafed waAi 9 4 f9=E & dau ¥ 7 881 €2

(A) Fafeea siave = @d § st 3 fa=r Feerm 1

(B) fo=ré =1 uma el i Ui & AR fm-fim g 7
(C) i H f=E 1 IHaRa e/aTEd Y Al ¢

(D) fo=rg =i aWemar W gl w1 FE F9E T gl § |

(1) e (A) 3 (C)
(2) #Ed (A) 3R (D)
(3) Fad (A), () ¥R (D)
(4) HEE (A) $R (B)
Options:-

.1, Option ID :- 657,




« 2, Option ID :- 658,
« 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166

Which of the following is true about crop rotation ?
(A) Crop rotation is done by growing different kinds of crop alternately.
(B) Crop rotation helps in the replenishment of the soil with nitrogen.

(C) Earlier, farmers in northern India used to grow legumes as fodder in one season and wheat

in the next season.

(D) Crop rotation has reduced the production as well as the fertility of soil has also reduced.
(1) Only (A) and (B)

(2) Only (A) and (D)

(3) Only (A) and(C)

(4) Only (A), (B) and (C)

T TR % Fed § S O Y e 2 2

(A) REE FhU Uk HEel & oI5 ©d H g8 e I wHe Thidt %9 § 3T L foha s €1

(B) g =l Y gt § A1gdieT w1 Ao 2l §

(C) Y&, I RA H foh TEel =601 o dR 9% FelleR =1 Uk 36g H ST & a1 g ool g 9 |
(D) O T YeER o 5@ @ © SR Ty & me gt o seva § oft 5 o )

(1) el (A) 3R (B)
(2) e (A) 3 (D)
(3) e (A) 3R (C)
(4) e (A), (B) 3R (C)

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

During heavy exercise, we get cramps in the leg due to the accumulation of :
(1) Carbon dioxide

(2) Lactic acid

(3) Alcohol

(4) Water




T A T T99 g9 2 | fom gerd F §eam 4 ieT e |, e 5 .
(1) #ET SEAFEES

(2) wifes stva
(3) Ueehleld
(4 =

Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168

Suppose you are stuck in a storm accompanied by lightening. which of the following places will
be the most suitable for you to take shelter ?

(1) Big trees

(2) Small trees
(3) Open storage shed
(4)  Windows of buildings.

Heg1 i T 2119 U e °§ il T § faad faset of fr @ ' = H F se-ar E anae fau snga o
% fou gay 3ga 2

(1) =T
(2 BRI
(3) Tl Heru v

(4) TORdl = fasfwEat

Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
. 3, Option ID :- 671,

- 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169




Given below are two statements. One of them is labelled as Assertion (A) and the other is labelled
as Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Polar Bears walk fast.
Reason (R) : Polar Bears have thick fur.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4)  (A) is false but (R) is true.

=1 <1 Tkt fou mu E 1w i 2afueRe (A) 37 gE 1 RO (R) FEl T E | A 5 T e w5 wer
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TR (A) : YT e oS Ford & |

FHOT (R) : YT 916] & 91 912 B 2

(1) (A) 3R (R) 3 &l §, 3R (R), (A) ! TEl S HL 5
(2) (A) ¥R (R) EF 5§, TG (R), (A) T HE RS Tl B 2|
(3) (A) 9@l €, 9 (R) T & |

(4) (A) T & 9 (R) HEE

Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Choose the correct equation :

(1) Alimentary canal + Associated glands = Digestive system.
(2) Digestive system + Associated gland = Alimentary Canal.
(3) Digestive sytem + Alimentary canal = Associated gland.
(4) Digestive sytem = Alimentary canal = Associated gland.

TEY TR T TS HL

(1) STRR 7ot + Terae Ul = 9= o
(2) A OF + HErHh Ul = SRR A
(3) TS W3 + SRR 7ell = Taw Urer
(4) TS G = SRR Tl = HErs U

)
)

Options:-
.1, Option ID :- 677,
« 2, Option ID :- 678,




. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

Below are a few statements related to the Right to Forest Act. Choose the correct answer with the
help of given codes :

(A) This act was passed in the year 2009.

(B) According to this act, people who have been living in the forest for atleast 50 years, have a
right over the forest land.

(C) The work of protecting the forest is done by their Gram Sabha.

(1)  Only (A)
(2) Only (B)
(3) Only (C)
(4) (A)and (B)

2 ST AR A § S FO FHo U T E | U g0 Fe H Ferd § w6 IW H A H
(A) TE HFA 2009 § Wi fomen mn g1

(B) 3T FHA F IUR, S AN HY H FH 50 I H ST H T € IR S0 ) THH W EF T
(C) SITel SI=I =T 19 UTH J1 1 Bl & |

%
(1) Fad (A)
(2) ad (B)
(3) (O
(4 (A) ¥R (B)
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : People experience the pull of the Earth even in a spaceship.
Reason (R) : The spaceship revolves around the Earth.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R)is true.
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(3) (A) W&l €, T (R) T & |

(4) (A) TeTd & 9 (R) Wel £

Options:-

.1, Option ID :- 685,

« 2, Option ID :- 686,

. 3, Option ID :- 687,

- 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

I can make snakes dance by playing the ‘been’. I have learnt this art from my community members.
These people/ members are called
(1) Duboia

(2) Afai
(3) Kalbeliyas
(4) Hunters

H =l 1 o9 S S YT T T T | T8 el 5 279 Al o §rE § g A
HEd 2

(1) g

(2) oTwrE

(3) RIS

(4) femprd
Options:-

.1, Option ID :- 689,
- 2, Option ID :- 690,
. 3, Option ID :- 691,

- 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174




A treeis found in Australia. It has very few leaves. Its roots go deep into the ground till they reach
water. This water is stored in the tree trunk. When there is no water in the area of this plant, the

people of that area put a thin pipe into the trunk of the tree and take out the water. What is this
plant known as ?

(1) Desert Oak

(2) Pine
(3) Cedar
(4) Cactus

sl | v g uren s § | e ufat agd € 0 0 9 ¥ | 30t 5 96 § el o € sa e
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(1) YTt siek

(2 s

(3) GTEER

(4)  AFTEHA
Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

Some flowers are also used as vegetables, choose the correct option from the following :
(A) Kachnar flower

(B) Sahjan flower

(C) Banana flower

(D) Refflesia flower

(1) (A)and (B)
(2) (B)and (C)
(3) (A), (B) and (O)
(4 (A), (B) and (D)
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(1) =R =l B5d
(2) FESH H FA
(3) kel = T
(4) TFRATSTE I He
(1) (A) ¥R (B)

(2) (B) R (C)

(3) (A), (B) ¥ ()
(4 (A), (B) 51X (D)

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176

Arrange the following in the correct sequence with the help of code :

(A) After a lot of effort and thinking, people learnt to make pots.

(B) People also discovered that clay pots could be made stronger by baking them in fire.
(C) They (people) started feeling the need to store and cook food.

(D) Many-many years ago, there was a time when people had no pots.

(1) (D) (A) (©), (B)
(20 (D) (O, (A), (B)
(3) (D), (B), (O), (A)
(4) (D) (A) (B), (O
Frefafad =1 F2 =i 758 9 Tl %0 H Te

(A) FEH R FA R fGHET T F 1€, AR S = S T

(B) @ri = =g oft @re feran fof gt & sl o1 Ofed a9 & oy 3% 81 § gehm1 =1feu |
(C) @RI =l WH-TH Y =il Sl o SR AHE W@ & fore a7 =i s v o |
(D) ®gd, 9gd, 9gd HId Ygel Uk Tq9F UHT o1, S &0 o U =6 & el o |

e

() (D) (A), ©) (B)
(2) (D) (©), (A) (B)
(3) (D) (B), (C) (A)
(4) (D) (A), (B) (C)

Options:-




.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 2, Option ID : -702

Question ID:- 177

You have gone to travel to a place where sea fish made in the coconut oil is being served to you.
Tell the place where you have gone to travel ?
(1) West Bengal

(2) Goa
(3) Manipur
(4) Mizoram

1 wek U e gEe 7 § el envent Tifere dor | o 58 gHe 1wl Tit v | Sae @ Ry s
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(1) 9fe=d S

(2) T

(3) g

(4) Tosig
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

Below are two statements. Choose the correct answer from given options.

Statement (I) : Children should be encouraged to make friends with a tree i.e. water it, look after
it and observe it minutely.

Statement (II) : If the children are encouraged to make friends with a tree, children will develop
a concern for the environment.

(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

« 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Which of the following solution is used to check “starch’ in food products ?
(1) Castic Soda

(2) Copper Sulphate
(3) Iodine

(4) Water

e geEl § ‘His | & gl % fou e faems w wEn e S R 2

(1) =i Hrel
(2) I HeHe
(3) sTEfEA
(4) =<

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180




Below are two statements. Choose the correct answer from given options :

Statement (I) : At sufficent heights, the air becomes so cool that the water vapour present in it
condenses to form tiny drops of water called droplets.

Statement (II) : Tiny droplets, that remain ﬂoating in the air, appear to us as clouds.
(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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